40

ICEPIPE

EX™ HIGH PERFORMANCE
A

o] ABOR AFE JH53H LIS E LED £BS
Multi usage LED floodlight for both indoor and outdoor

« B7|ofSHE M7 2 W M5 A xe)

Optimal Heat dissipation with aerodynamic design 3
° .Ejag HH%"’,‘:-_"HE -?-¢6J E‘X‘"E ‘_r"-é.j YEAR

Rounded light distribution ensures excellent uniformity WARRANTY
« IP67 HS-SFOE He| AH20]| X[ X3}

IP67 available for outdoor waterproof usage l 5 OW 2 O OW
-« 7| LHZE O R 41| 8ol

Easy installation with self-ballasted internal driver
«360° 2t 2 A0 2 Mafst MX|

360° angle adjustment ensures convenient installation

T2 DIMENSION

®500

Installation
Angle

Product Wattage Efficacy TotalLumen CCT Voltage Frequency Type

CD3000-150W 150 W 120 Im/W 18,000 Im
All-in

5700K 82Ra AC100-277V 50/60Hz -one 360°

CD3000-200W 200w 120 Im/W 24,000 Im



ZAMZE BEAM ANGLE € |6

7|2 22l SH U=
Standard Clear Option Lens
100° 15°, 20°, 30°, 45°, 60°
v i :
-/+180 -/+180 %’
-150 150 150 150 //,/
-120 120 -120 120 . 7

K

&

Fe|( @

4009213

90 90 90

‘ SRS
LK e AL I B

o~ €30/210,
—c60/240

=M SCIFH 2

Option Dome Diffuser 2

130°

-/+180
-150 150

-120 120 -120

20 -90

S0 €30/210,¢
— 60/240.¢

d E1|L|ﬁ§ v

Tennis court

S4 gagal 2

=

Option Diffuser Glass 2

110°

-/+180
-150 150

30— €30/210,1
—c60/240.1

. EH*iI.’F.%" Replacement

N

150w | = |400W
200W | = |500W

A2 spEcIFICATION

30— €30/210,1
—60/240,1

. -?-7'" Weight

| 6kg [13.21bs]

M XAl apPLICATION

1HS17ao074 dan .

-

F):>09

=3
Z0 #|/E(THD) : <15%
=3
E

T

=
rlo

| Housing < Z2[7IEH|0|E pC
Heatsink ¢ T-2|, OtO| ATIFO| & S| E A 3 Copper, ICEPIPE Heatsink
=(CCT) : 7| £ std. - 3000K/5700K, 24 opt. - 2700K/4000K/5000K

o BEE 2T operating Temp. : -30°C~50°C (-22°F~122°F)

. |P%E‘ IP rating ¢ IP67

+ LEDH =B Lep chip lifetime : 50,000 hours (in 25°C)

¥ LED & +E1t M E +E2 Xt0|7t A&L|Ch
Lifespan of LED chip and lamp may be different.

¥ 20| M AL Al £=F0| HorE 4 AFLICH
High operating temperature may shorten it.

41



42

4X|=M CD3000 installation Type CD3000

2{| 0| A9|0] Raceway I

I IMES HighBay F&S Flood Light

CD3000
v

www.icepipeLED.com

0;/ A2l chain

02/ I}O| I pipe

03/ r-21xi 1

R-Hinge 1

(M8X 12)

Hexagon Bolt
(M8X12)

06/ 3|™ H2}2 Rotational Bracket

Wall——

Hexagon Bolt
(M12X30)

(M10X25)

HAXZ ACCESSORIES A

07 3|™ H2}ZM Rotational Bracket

Hexagon Nut

Hexagon Bolt A.22  (M10)

(M12X30)

Hexagon Bolt
(M10X25)

9 10 11 19 20 22 24

28 30 32 34 35 36

Flange : . .
f f Rotational Wall Pillar Multi
R-Hinge1 = R-Hinge L Mount Bracket Bracket = Bracket1 Hanger

Chain Waterproof  Diffuser Dome Union

- Self-drilling
Nut Union crew

Connector ~ Glass2  Diffuser2 = Coupling = Coupling (4.2x25)

Bracket
:

o oC ) 8 & «



www.icepipeLED.com

4X|=M CD3000 installation Type CD3000

=
I DXMES HighBay EF&S FloodLight 2|0|A%I0] Raceway I

08 sid map Hewagongolr ~ A23  Hegentut | 09/ R-2IX| 1/ R-3IK] L
Rotational Bracket (M12X30) R-Hinge 1/ R-Hinge L
5
g 1707
- _-®
.
1 - o =
) o
— Pipe u
o
Hexagon Bolt 8
(M10X25) =
o)
T
—
10’ U E2}3l u Bracket ll/ 2| 0] A9J|0], Raceway
Lock Nut
Raceway
A.24
A.25

Hexagon Bolt
(M18)

1 2/ 20| A%|0] rRaceway
Lock Nut

-
=

A.17 Bolt =T
(M4x12)

A.17 ScreW4l
(4.2X25)

B 22 ACCESSORIES A

9 11 17 19 20 21 23 24 25 28 30 32 34 35

Flange ) nction  Rotational — Wall Pillar Multi Water| i i i
i : proof  Diffuser Dome Union  Nut Union
ReHinge 1 gllgléﬂ;t Box Bracket Bracket Y Bracket Bracket2 = Hanger Chain Connector ~ Glass2  Diffuser2 = Coupling = Coupling

Be | o8 e

43



